Multiplying by Powers of Ten

Multiplying by 10¹

2,300 x	10 ¹	=	60 x	10 ¹	=
260 x	10 ¹	=	4,500 x	10 ¹	=
54 x	10 ¹	=	41 x	10 ¹	=
2,900 x	10 ¹	=	100 x	10 ¹	=
500 x	10 ¹	=	350 x	10 ¹	=
8,400 x	10 ¹	=	4,800 x	10 ¹	=
630 x	10 ¹	=	200 x	10 ¹	=
580 x	10 ¹	=	3 x	10 ¹	=
80 x	10 ¹	=	1,600 x	10 ¹	=
780 x	10 ¹	=	48 x	10 ¹	=
410 x	10 ¹	=	100 x	10 ¹	=
2,800 x	10 ¹	=	53 x	10 ¹	=
5,300 x	10 ¹	=	33 x	10 ¹	=

Multiplying by Powers of Ten Answers

Multiplying by 10¹

2,300 x	10 ¹	=	23,000	60 x	10 ¹	=	600
260 x	10 ¹	=	2,600	4,500 x	10 ¹	=	45,000
54 x	10 ¹	=	540	41 x	10 ¹	=	410
2,900 x	10 ¹	=	29,000	100 x	10 ¹	=	1,000
500 x	10 ¹	=	5,000	350 x	10 ¹	=	3,500
8,400 x	10 ¹	=	84,000	4,800 x	10 ¹	=	48,000
630 x	10 ¹	=	6,300	200 x	10 ¹	=	2,000
580 x	10 ¹	=	5,800	3 x	10 ¹	=	30
80 x	10 ¹	=	800	1,600 x	10 ¹	=	16,000
780 x	10 ¹	=	7,800	48 x	10 ¹	=	480
410 x	10 ¹	=	4,100	100 x	10 ¹	=	1,000
2,800 x	10 ¹	=	28,000	53 x	10 ¹	=	530
5,300 x	10 ¹	=	53,000	33 x	10 ¹	=	330

Multiplying by Powers of Ten

Multiplying by 10

2,300 x	10	=	60 x	10	=
260 x	10	=	4,500 x	10	=
54 x	10	=	41 x	10	=
2,900 x	10	=	100 x	10	=
500 x	10	=	350 x	10	=
8,400 x	10	=	4,800 x	10	=
630 x	10	=	200 x	10	=
580 x	10	=	3 x	10	=
80 x	10	=	1,600 x	10	=
780 x	10	=	48 x	10	=
410 x	10	=	100 x	10	=
2,800 x	10	=	53 x	10	=
5,300 x	10	=	33 x	10	=

Multiplying by Powers of Ten Answers

Multiplying by 10

2,300 x	10	=	23,000	60 x	10	=	600
260 x	10	=	2,600	4,500 x	10	=	45,000
54 x	10	=	540	41 x	10	=	410
2,900 x	10	=	29,000	100 x	10	=	1,000
500 x	10	=	5,000	350 x	10	=	3,500
8,400 x	10	=	84,000	4,800 x	10	=	48,000
630 x	10	=	6,300	200 x	10	=	2,000
580 x	10	=	5,800	3 x	10	=	30
80 x	10	=	800	1,600 x	10	=	16,000
780 x	10	=	7,800	48 x	10	=	480
410 x	10	=	4,100	100 x	10	=	1,000
2,800 x	10	=	28,000	53 x	10	=	530
5,300 x	10	=	53,000	33 x	10	=	330